PreCalculus ¢13-14 Name:

Dr. Quattrin

Trig Basics

CALCULATOR ALLOWED Score
Round to 3 decimal places.

Round to 3 decimal places. Show all work.

(e
1. sm(cos 2

a. 0.438 b. 0.661 C. 0.821

d. 1.3238 e 1.528

2. The magnitude of ¥ =7i —/6] is

~

(a/ V55 b 1 e 13 d 8 ) B
2] In the triangle shown, which of the following best approximates x?
18
X
1 35°

a. ) 1032 b.  25.71 c. 12.60

d. 14.74 e. none of these



4. In the figure below, tany =

. 7 b k 3 7T—k d V49— k? 29 V49— k?
k "7 S ' 7 (= k
5. An incline makes an angle of 60° with level ground. How many feet up the

incline must one go in order to rise 20 feet above the ground?

a. 10 b. 1043 /e % d 40 e 403
6. What is the measure of an angle whose sine is twice the cosiné of 60°?
a. 30° b. 60° C 90°

d. 120° ct No such angle



PreCalculus 2013-14
Trig Basics Practice Test
Part II: CALCULATOR ALLOWED

1. (-3, 5) is on the terminal side of A. Find

the six exact trig values: NErE
sin A= 5—/\% v cos A= /75

tan A= ~°/7 cot A= ~ /s~

sec A= (573 csc A= ﬁ%‘

2. cosB="34 inQuadrant Il. Find the
other five exact trig values: 3 = j WY =28
= J2u

24
sinB= d:’;‘ cosB=—5/7
=7-13% o
tanB= "/ —~ cotB= /J;:
secB= " /< cscB= /2y

3. cotC="60/, in Quadrant IV. Find the
other five exact trig values: = éaﬂ - =1

=G
e ,
sin C= /(o( cos C= C,db‘
tanB= "'/, .. cot C =—607,
sec C= %,o csc C=" "%,

4. Find the approximate values of A, B, and
C (in degrees) above.

A=_J2) 764 T3éuq

B= 128 . CRC T 35004

C= ~10.384 tadon

Name 5_11-‘\,\“_;‘; oLl \Zé}‘aj

Score

5. Find the approximate values of:
Cos -38°=  7§¢

Sin 46°= 11

Tan2.6= —-.607Z

Sec-937= [ %7

Csc 2.8°= 201 *

6. Find the approximate values (in degrees)
of:

Cos-1 1.725={ MeoDow o oud

20 12 E3efa
Sin-1 (-.345)= oo 1§2 T 3600

o, 7€2 T3eon
Tan-1 1.788=
5 4O 181 + 3ceon
(v l"z_qo, i‘ gé(J/\

Sec-1 2.082=
{ —Ll.29S T36oN

47 2] £360n

"1 _1 =
Csc 362 { Tk o il et e



7. A boat sails 63 mph at a bearing of 113°. The current flows 8 mph at 254°.
Find the magnitude and bearing of the resultant vector.

(oSCo_sll%(_ + 63 s,gxl-id
B cos 26U +8 ¢ im zs‘fd

1

” = Cog ! _f.f"-‘—g?:-l — be°
O : SH.066 T A

8. If§=—4-i—)+7T and F =1 5T+8T, find:

a. 4s-3r1
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= s 5
= —bic 't'"’IJ 21,588
(S {
- 1 < 4 -
c. The unit vector in the direction T 20— = = C+=35J
i i
9.  Find the exact value of the following:
sm3—7£csc3—7rtan§£ —ﬂ—l — 1
e 4 6 coss—n+sm 4 sin@+cos£
( 2 B 3 S o 5
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T 2 72

= "\/fg
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